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Par Kontr Ut Resultat Poäng

 1

 [  QT5
 ]  AQ2
 {  QT986
 }  AK

 [  AKJ8
 ]  T87
 {  J43
 }  962

 [  9632
 ]  J653
 {  A2
 }  T73

 [  74
 ]  K94
 {  K75
 }  QJ854

19 2 3] Ö -3 }J 150       18,0 0,0
14 7 3N V -2 ] 7 100       16,0 2,0
9 12 2] Ö -1 [7 50       14,0 4,0
4 17 2{ V = [A -90 12,0 6,0
20 1 2{ V +1 }6 -110 10,0 8,0
11 10 1N V +1 [A -120 6,0 12,0
13 8 1N V +1 [A -120 6,0 12,0
16 5 1N V +1 [A -120 6,0 12,0
3 18 2] S -3 }K -150 1,0 17,0
15 6 1N V +2 [A -150 1,0 17,0

Par Kontr Ut Resultat Poäng

 2

 [  A542
 ]  94
 {  QT92
 }  J95

 [  K7
 ]  AKQJ53
 {  K643
 }  7

 [  QJT
 ]  72
 {  A5
 } KQT864

 [  9863
 ]  T86
 {  J87
 }  A32

9 12 4] N = }K 620       16,0 2,0
13 8 4] N = }K 620       16,0 2,0
16 5 4] N = }K 620       16,0 2,0
11 10 3] N +1 }K 170       9,0 9,0
14 7 3] N +1 [Q 170       9,0 9,0
19 2 3] N +1 }K 170       9,0 9,0
20 1 3] N +1 { A 170       9,0 9,0
15 6 4[ V -2 ]A 100       4,0 14,0
3 18 2[ V -1 ]A 50       2,0 16,0
4 17 3] N -2 }K -200 0,0 18,0

Par Kontr Ut Resultat Poäng

 3

 [  K3
 ]  AQT76
 {  J7
 }  Q742

 [  QJT
 ]  J95
 {  5
 }  AKT985

 [  754
 ]  84
 { AKQ943
 }  63

 [  A9862
 ]  K32
 {  T862
 }  J

19 2 4] V -2 }K 200       18,0 0,0
13 8 3{ V -1 }J 100       16,0 2,0
9 12 3[ S -1 { J -50 14,0 4,0
15 6 2{ Ö = }J -90 12,0 6,0
16 5 3[ S -2 { J -100 10,0 8,0
11 10 3{ V +1 }A -130 8,0 10,0
20 1 2N V +1 }9 -150 6,0 12,0
4 17 3N V = }A -600 3,0 15,0
14 7 3N V = [Q -600 3,0 15,0
3 18 3N V +2 }8 -660 0,0 18,0

Par Kontr Ut Resultat Poäng

 4

 [  532
 ]  Q86
 {  AT
 }  QT732

 [  AJ86
 ]  7
 {  K9874
 }  AKJ

 [  K7
 ]  AJ4
 {  QJ632
 }  964

 [  QT94
 ]  KT9532
 {  5
 }  85

17 6 4[ N +1 }6 650       17,0 1,0
20 2 4[ N +1 }4 650       17,0 1,0
5 18 4[ N = { Q 620       10,0 8,0
10 13 4[ N = }4 620       10,0 8,0
14 9 4[ N = }9 620       10,0 8,0
15 8 4[ N = { 3 620       10,0 8,0
16 7 4[ N = }6 620       10,0 8,0
12 11 3[ N +2 }4 200       4,0 14,0
1 3 3[ N +1 }4 170       2,0 16,0
4 19 1[ N +2 }3 140       0,0 18,0

Par Kontr Ut Resultat Poäng

 5

 [  ---
 ]  AJ6
 {  A986543
 }  QJ9

 [  KQ986
 ]  KQ874
 {  ---
 }  A63

 [  T42
 ]  T2
 {  KQJT2
 }  K72

 [  AJ753
 ]  953
 {  7
 }  T854

16 7 5[x N = { K 850       18,0 0,0
4 19 5[ N = { 6 650       14,0 4,0
5 18 5[ N = { K 650       14,0 4,0
15 8 5[ N = { K 650       14,0 4,0
14 9 6{ x Ö -1 ] 3 100       10,0 8,0
10 13 6{ V -1 ]K 50       8,0 10,0
17 6 5[ N -1 { K -100 6,0 12,0
1 3 5{ Ö = [A -400 3,0 15,0
12 11 5{ V = [K -400 3,0 15,0
20 2 5{ x V = [K -550 0,0 18,0

Par Kontr Ut Resultat Poäng

 6

 [  Q8
 ]  A4
 {  QT54
 }  AKQ85

 [  T94
 ]  962
 {  J73
 }  JT43

 [  K752
 ]  JT3
 {  K96
 }  962

 [  AJ63
 ]  KQ875
 {  A82
 }  7

4 19 3N V -3 ] 2 300       17,0 1,0
15 8 3N V -3 ] 2 300       17,0 1,0
20 2 3N Ö -2 }5 200       14,0 4,0
5 18 4} V -1 ] 2 100       12,0 6,0
12 11 1] S = }A 80       10,0 8,0
17 6 2] S -1 [Q -50 8,0 10,0
1 3 1N V = ]2 -90 6,0 12,0
10 13 3} V = ]2 -110 2,0 16,0
14 9 3} V = ]2 -110 2,0 16,0
16 7 3} Ö = ]K -110 2,0 16,0

Utan hcp Total Namn

1 499,6 Charlo�a Jönsson - Lars-Eije Svensson
2 470,7 Mar&n Löfgren - Erik Fryklund
3 457,8 Anders Hansson - Erik Hansson
4 457,7 Viveca Rappe - Jan-Erik Thomasson
5 432,3 Anders Ekström - Lars-Inge Rehnström
6 430,7 Tony Lindblom - Jonas Hjelte
7 423,8 Mats Sjöberg - Emma Övelius
8 423,3 Stefan Skoog - Staffan Rockler
9 420,7 Hans Velin - Krister Ekudd

10 414,7 Göran Eklund - Pe�er Fryklund
11 414,3 Lars Lundqvist - Lena Lundqvist
12 407,3 Lennart Karlsson - Leif Lyngmo
13 391,3 Gun Karlsson - Royne Gustavsson
14 384,4 Rolf Öhman - Inger Öhman
15 376,9 Maud Kylinger - Gunnar Boström
16 355,6 Pär Andersson - Peter Kennerfalk
17 341,7 Åke Karlsson - Ragnar Jansson
18 336,4 Marie Cederkrok - Anita Bergstedt
19 335,3 Torbjörn Forsén - Dag Johansson
20 329,1 Ulf Pe�ersson - Tomas Gustafsson
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Par Kontr Ut Resultat Poäng

 7

 [  JT
 ]  KT7652
 {  ---
 }  KJT75

 [  3
 ]  Q98
 {  AQJ8632
 }  42

 [  985
 ]  A43
 {  T95
 }  AQ93

 [  AKQ7642
 ]  J
 {  K74
 }  86

11 14 4[x S = ] 7 790       18,0 0,0
17 8 4[ S +3 [ J 710       15,0 3,0
20 3 4[ N +3 [ J 710       15,0 3,0
5 1 4[ S +2 ] 7 680       12,0 6,0
2 4 2[ S +2 ] 5 170       9,0 9,0
13 12 2[ S +2 ] 5 170       9,0 9,0
6 19 5] Ö -1 [A 100       6,0 12,0
18 7 4[ S -1 ] 6 -100 4,0 14,0
15 10 4[ N -2 { T -200 2,0 16,0
16 9 5} V = [3 -600 0,0 18,0

Par Kontr Ut Resultat Poäng

 8

 [  AJ8642
 ]  87
 {  J53
 }  74

 [  93
 ]  A2
 {  9842
 }  AQT65

 [  T
 ]  KT965
 {  AKT7
 }  982

 [  KQ75
 ]  QJ43
 {  Q6
 }  KJ3

2 4 3} N = { A 110       17,0 1,0
11 14 3} N = [T 110       17,0 1,0
5 1 2[ V -2 ]A 100       12,0 6,0
16 9 2[ V -2 ]A 100       12,0 6,0
18 7 2[ Ö -2 }3 100       12,0 6,0
6 19 3N N -1 ] 5 -50 4,0 14,0
13 12 3} N -1 [T -50 4,0 14,0
15 10 3} N -1 { A -50 4,0 14,0
17 8 3N S -1 }7 -50 4,0 14,0
20 3 3} N -1 [T -50 4,0 14,0

Par Kontr Ut Resultat Poäng

 9

 [  AK85
 ]  K2
 {  AJ8
 }  T932

 [  743
 ]  Q875
 {  QT7
 }  J85

 [  QJ62
 ]  A43
 {  65432
 }  Q

 [  T9
 ]  JT96
 {  K9
 }  AK764

16 9 4[ Ö -1 }A 100       18,0 0,0
17 8 2] N -2 [2 -100 15,0 3,0
20 3 2}x N -1 ] 4 -100 15,0 3,0
5 1 3{ Ö = }A -110 12,0 6,0
2 4 3[ V = }5 -140 10,0 8,0
6 19 4[ V = [4 -620 5,0 13,0
11 14 4[ V = }5 -620 5,0 13,0
13 12 4[ Ö = }A -620 5,0 13,0
15 10 4[ V = ]7 -620 5,0 13,0
18 7 4[ V +1 }5 -650 0,0 18,0

Par Kontr Ut Resultat Poäng

 10

 [  T3
 ]  QJ73
 {  J95
 }  7543

 [  K
 ]  KT652
 {  432
 }  KQT9

 [ AQ96542
 ]  94
 {  T
 }  J86

 [  J87
 ]  A8
 {  AKQ876
 }  A2

3 5 3N S +3 [T 690       18,0 0,0
6 2 4] N +2 { T 680       16,0 2,0
14 13 3N S +2 [T 660       13,0 5,0
17 10 3N S +2 [T 660       13,0 5,0
7 1 5{ N +1 [T 620       7,0 11,0
12 15 5{ S +1 [6 620       7,0 11,0
19 8 4] S = [3 620       7,0 11,0
20 4 4] N = { T 620       7,0 11,0
16 11 5] N -1 [A -100 1,0 17,0
18 9 6{ S -1 [T -100 1,0 17,0

Par Kontr Ut Resultat Poäng

 11

 [  7
 ]  JT83
 {  K8
 }  A98532

 [  QJT8654
 ]  Q64
 {  AJ5
 }  ---

 [  K2
 ]  K7
 {  Q9763
 }  J764

 [  A93
 ]  A952
 {  T42
 }  KQT

6 2 5}x V -4 [Q 800       18,0 0,0
20 4 4[ N +2 { 3 480       16,0 2,0
3 5 4[ N +1 { 3 450       8,0 10,0
7 1 4[ N +1 { 3 450       8,0 10,0
14 13 4[ N +1 ]4 450       8,0 10,0
16 11 4[ N +1 }6 450       8,0 10,0
17 10 4[ N +1 ]K 450       8,0 10,0
18 9 5[ S = }A 450       8,0 10,0
19 8 4[ S +1 ] J 450       8,0 10,0
12 15 4[ S = { K 420       0,0 18,0

Par Kontr Ut Resultat Poäng

 12

 [  92
 ]  A8654
 {  KT982
 }  6

 [  A85
 ]  QT7
 {  J7654
 }  97

 [  KJT76
 ]  J92
 {  3
 }  J852

 [  Q43
 ]  K3
 {  AQ
 }  AKQT43

6 2 3N N +1 }5 630       17,0 1,0
16 11 3N S +1 { 9 630       17,0 1,0
7 1 3N S = { 2 600       11,0 7,0
14 13 3N S = ]4 600       11,0 7,0
19 8 3N N = ]9 600       11,0 7,0
20 4 3N S = [9 600       11,0 7,0
3 5 4] x V -3 { 3 500       6,0 12,0
12 15 3N N -1 [T -100 2,0 16,0
17 10 3N S -1 [9 -100 2,0 16,0
18 9 3N S -1 [9 -100 2,0 16,0

Par Kontr Ut Resultat Poäng

 13

 [  T2
 ]  J73
 {  KJ954
 }  T54

 [  J84
 ]  A82
 {  AT83
 }  763

 [  K75
 ]  KT54
 {  Q7
 }  AK82

 [  AQ963
 ]  Q96
 {  62
 }  QJ9

13 16 1N Ö -2 [3 200       18,0 0,0
1 9 1N Ö -1 [3 100       8,0 10,0
4 6 1N Ö -1 [3 100       8,0 10,0
7 3 1N Ö -1 [6 100       8,0 10,0
8 2 1N Ö -1 [6 100       8,0 10,0
15 14 1N Ö -1 [3 100       8,0 10,0
17 12 1N Ö -1 [3 100       8,0 10,0
18 11 1N Ö -1 [7 100       8,0 10,0
19 10 1N Ö -1 [3 100       8,0 10,0
20 5 1N Ö -1 [6 100       8,0 10,0

Par Kontr Ut Resultat Poäng

 14

 [  A82
 ]  AQ62
 {  A
 }  Q9863

 [  KQJ9543
 ]  J7
 {  QT63
 }  ---

 [  T6
 ]  KT985
 {  K82
 }  JT7

 [  7
 ]  43
 {  J9754
 }  AK542

13 16 4[x N = }7 590       18,0 0,0
17 12 4[ N +1 }J 450       16,0 2,0
20 5 4[ N = }5 420       14,0 4,0
15 14 3[ N +1 }J 170       12,0 6,0
7 3 3[ N = ]5 140       10,0 8,0
19 10 4[x N -1 }J -100 8,0 10,0
4 6 4] Ö = }A -420 6,0 12,0
1 9 4] V +1 [K -450 3,0 15,0
8 2 4] Ö +1 [7 -450 3,0 15,0
18 11 4[x N -3 ] 8 -500 0,0 18,0

Par Kontr Ut Resultat Poäng

 15

 [  T83
 ]  K8765
 {  743
 }  54

 [  QJ42
 ]  A4
 {  Q92
 }  AKJ3

 [  AK5
 ]  QT3
 {  KT5
 }  Q976

 [  976
 ]  J92
 {  AJ86
 }  T82

7 3 1N N +2 [A 150       14,0 4,0
15 14 3] Ö -3 [6 150       14,0 4,0
18 11 1N N +2 }6 150       14,0 4,0
19 10 3] V -3 }K 150       14,0 4,0
20 5 1N N +2 }5 150       14,0 4,0
8 2 1N N +1 [A 120       7,0 11,0
13 16 2N N = }6 120       7,0 11,0
1 9 3] V -2 }A 100       4,0 14,0
4 6 2] V -1 }K 50       2,0 16,0
17 12 3N N -1 }3 -100 0,0 18,0

Par Kontr Ut Resultat Poäng

 16

 [  962
 ]  K954
 {  AQ8
 }  T53

 [  AK43
 ]  QJ8
 {  765
 }  J72

 [  QJ75
 ]  T
 {  KT43
 }  AQ96

 [  T8
 ]  A7632
 {  J92
 }  K84

1 11 2{ V = ]Q -90 17,0 1,0
20 6 1N V = { 6 -90 17,0 1,0
9 3 2] x S -1 [ 9 -100 12,0 6,0
18 13 1N S -2 }3 -100 12,0 6,0
19 12 2] S -2 }3 -100 12,0 6,0
5 7 1N V +1 }2 -120 6,0 12,0
8 4 1N V +1 { 7 -120 6,0 12,0
16 15 1N Ö +1 [T -120 6,0 12,0
2 10 1N N -3 [5 -150 2,0 16,0
14 17 3] x S -2 }3 -300 0,0 18,0

Par Kontr Ut Resultat Poäng

 17

 [  QT32
 ]  KQ
 {  KQ74
 }  Q32

 [  6
 ]  83
 {  9865
 }  K97654

 [  A74
 ]  T964
 {  AJ3
 }  AJ8

 [  KJ985
 ]  AJ752
 {  T2
 }  T

1 11 3N Ö +1 [5 -430 11,0 7,0
5 7 3N Ö +1 [5 -430 11,0 7,0
8 4 3N Ö +1 [8 -430 11,0 7,0
9 3 3N V +1 [6 -430 11,0 7,0
14 17 3N Ö +1 [9 -430 11,0 7,0
16 15 3N Ö +1 ]5 -430 11,0 7,0
19 12 3N Ö +1 ]2 -430 11,0 7,0
20 6 3N V +1 [6 -430 11,0 7,0
18 13 3N Ö +2 [7 -460 2,0 16,0
2 10 2] x N -4 ] 4 -800 0,0 18,0

Par Kontr Ut Resultat Poäng

 18

 [  J8
 ]  KJ764
 {  AKQ5
 }  84

 [  K5
 ]  83
 {  T872
 }  AKQ96

 [  T7642
 ]  QT
 {  963
 }  J72

 [  AQ93
 ]  A952
 {  J4
 }  T53

14 17 3{ x V -6 [K 1400       18,0 0,0
19 12 3N N +1 ]Q 630       16,0 2,0
9 3 3N S = { A 600       14,0 4,0
5 7 4} N = { Q 130       10,0 8,0
8 4 3} N +1 ]Q 130       10,0 8,0
16 15 3} N +1 ]Q 130       10,0 8,0
2 10 3} N = ]Q 110       5,0 13,0
20 6 3} N = ]9 110       5,0 13,0
18 13 5} S -1 { A -100 2,0 16,0
1 11 5} N -2 ]Q -200 0,0 18,0
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Par Kontr Ut Resultat Poäng

 19

 [  K
 ]  632
 {  KJ872
 }  A852

 [  2
 ]  Q874
 {  AQT9
 }  QJ73

 [  AQJ9
 ]  AJT5
 {  63
 }  T96

 [  T876543
 ]  K9
 {  54
 }  K4

15 18 3N Ö -3 [5 300       18,0 0,0
2 12 3N Ö -2 [6 200       14,0 4,0
6 8 3N V -2 [2 200       14,0 4,0
20 7 3N Ö -2 [8 200       14,0 4,0
10 4 2[ S = { 2 110       10,0 8,0
1 13 2[ S -1 ] 2 -50 8,0 10,0
9 5 2[x S -1 }A -100 5,0 13,0
17 16 3[ S -2 ] 2 -100 5,0 13,0
3 11 3[x S -2 ] 8 -300 2,0 16,0
19 14 3N Ö = [3 -600 0,0 18,0

Par Kontr Ut Resultat Poäng

 20

 [  K832
 ]  Q7
 {  KJ632
 }  64

 [  A95
 ]  K642
 {  9875
 }  95

 [  J76
 ]  AJ
 {  AQ4
 }  AKQ32

 [  QT4
 ]  T9853
 {  T
 }  JT87

3 11 3N Ö +1 ]T -630 16,0 2,0
10 4 3N V +1 { 9 -630 16,0 2,0
15 18 3N Ö +1 ]T -630 16,0 2,0
1 13 3N Ö +2 ]8 -660 8,0 10,0
6 8 3N Ö +2 ]T -660 8,0 10,0
9 5 3N Ö +2 ]9 -660 8,0 10,0
19 14 3N Ö +2 ]9 -660 8,0 10,0
20 7 3N Ö +2 ]T -660 8,0 10,0
2 12 3N Ö +3 ]3 -690 1,0 17,0
17 16 3N Ö +3 ]8 -690 1,0 17,0

Par Kontr Ut Resultat Poäng

 21

 [  AKJ73
 ]  QJ742
 {  8
 }  Q7

 [  986
 ]  AT8
 {  AQT3
 }  T83

 [  T4
 ]  K965
 {  K74
 }  AJ95

 [  Q52
 ]  3
 {  J9652
 }  K642

2 12 3] V +2 }3 -200 17,9 0,1
3 11 4] V = ]8 -420 14,6 3,4
15 18 4] V = }3 -420 14,6 3,4
1 13 4] V +1 [9 -450 5,7 12,3
6 8 4] V +1 }8 -450 5,7 12,3
9 5 4] V +1 ] 8 -450 5,7 12,3
10 4 4] V +1 { A -450 5,7 12,3
17 16 4] Ö +1 }4 -450 5,7 12,3
20 7 4] V +1 { A -450 5,7 12,3
19 14 4[ V = ]6 -420>a 10,8 10,8

Par Kontr Ut Resultat Poäng

 22

 [  QJ7
 ]  Q963
 {  A
 }  QJT73

 [  83
 ]  AK5
 {  QT872
 }  K84

 [  K965
 ]  J42
 {  J9
 }  9652

 [  AT42
 ]  T87
 {  K6543
 }  A

7 9 3N S +1 [Q 430       17,0 1,0
10 6 3N N +1 [5 430       17,0 1,0
2 14 3N N = [6 400       10,0 8,0
3 13 3N N = }9 400       10,0 8,0
11 5 3N N = [6 400       10,0 8,0
16 19 5{ N = }5 400       10,0 8,0
20 8 5{ S = }Q 400       10,0 8,0
1 15 2{ S +3 }Q 150       2,0 16,0
4 12 3{ N +2 }5 150       2,0 16,0
18 17 2N N +1 [6 150       2,0 16,0

Par Kontr Ut Resultat Poäng

 23

 [  65
 ]  AK3
 {  KQ9876
 }  J2

 [  93
 ]  6
 {  J32
 }  AK76543

 [  T874
 ]  T975
 {  AT5
 }  Q8

 [  AKQJ2
 ]  QJ842
 {  4
 }  T9

4 12 4[ S +2 { K 680       18,0 0,0
11 5 4{ x V -2 ] 6 500       16,0 2,0
2 14 3[ S +3 { K 230       14,0 4,0
3 13 2[ S +3 { K 200       11,0 7,0
16 19 3{ V -2 ] 6 200       11,0 7,0
10 6 4} N +1 { A 150       8,0 10,0
20 8 2[ S +1 { A 140       6,0 12,0
7 9 3[ N -1 { K -100 4,0 14,0
1 15 4[ S -2 { K -200 1,0 17,0
18 17 3[ S -2 { 7 -200 1,0 17,0

Par Kontr Ut Resultat Poäng

 24

 [  J63
 ]  QT83
 {  AK5
 }  AJ4

 [  KQT8
 ]  AKJ54
 {  J7
 }  K3

 [  A52
 ]  62
 {  Q32
 }  98765

 [  974
 ]  97
 {  T9864
 }  QT2

4 12 2] N = }5 110       17,0 1,0
20 8 2] N = }9 110       17,0 1,0
2 14 3Nx V -1 { J 100       13,0 5,0
3 13 3} Ö -2 ] 9 100       13,0 5,0
10 6 3{ N -1 }9 -50 9,0 9,0
18 17 2] S -1 { A -50 9,0 9,0
1 15 1N V = ]A -90 5,0 13,0
7 9 1N V = ]5 -90 5,0 13,0
16 19 2] x N -1 }5 -100 2,0 16,0
11 5 3N N -5 }5 -250 0,0 18,0

Par Kontr Ut Resultat Poäng

 25

 [  K5
 ]  9753
 {  AQ6
 }  T432

 [  AT9762
 ]  QJ6
 {  7
 }  AQ6

 [  QJ8
 ]  A8
 {  KT985
 }  975

 [  43
 ]  KT42
 {  J432
 }  KJ8

5 13 2[ N +2 }5 170       18,0 0,0
2 16 3[ N = { T 140       9,0 9,0
3 15 2[ N +1 }2 140       9,0 9,0
4 14 2[ N +1 }5 140       9,0 9,0
8 10 2[ N +1 }5 140       9,0 9,0
11 7 2[ N +1 ]A 140       9,0 9,0
12 6 2[ N +1 }6 140       9,0 9,0
19 18 2[ N +1 }5 140       9,0 9,0
20 9 2[ N +1 { 5 140       9,0 9,0
17 1 4[ S -2 }7 -100 0,0 18,0

Par Kontr Ut Resultat Poäng

 26

 [  T32
 ]  32
 {  KJ84
 }  AKQ3

 [  9
 ]  AKT98765
 {  73
 }  J6

 [  A75
 ]  J4
 {  AQT5
 }  T975

 [  KQJ864
 ]  Q
 {  962
 }  842

5 13 4] N = }T 620       18,0 0,0
2 16 5{ V -2 ]A 200       15,0 3,0
20 9 5{ Ö -2 ]Q 200       15,0 3,0
8 10 3] N -1 }T -100 11,0 7,0
17 1 4] N -1 }T -100 11,0 7,0
4 14 4] N -2 }7 -200 6,0 12,0
12 6 4] N -2 }T -200 6,0 12,0
19 18 4] x N -1 }7 -200 6,0 12,0
11 7 5] N -3 }T -300 2,0 16,0
3 15 3N Ö = [K -600 0,0 18,0

Par Kontr Ut Resultat Poäng

 27

 [  T8
 ]  K986
 {  Q98
 }  QJ73

 [  J542
 ]  JT53
 {  AJT
 }  62

 [  A6
 ]  7
 {  K7652
 }  K9854

 [  KQ973
 ]  AQ42
 {  43
 }  AT

20 9 5}x Ö -3 [K 500       18,0 0,0
19 18 2[ S +2 { 8 170       16,0 2,0
4 14 2[ S +1 [4 140       12,0 6,0
11 7 3[ S = }Q 140       12,0 6,0
17 1 2[ N +1 ]A 140       12,0 6,0
2 16 4} V -1 [4 50       8,0 10,0
3 15 4[ S -1 }Q -50 5,0 13,0
8 10 4[ S -1 }Q -50 5,0 13,0
5 13 4] S -2 }7 -100 1,0 17,0
12 6 5[ S -2 }Q -100 1,0 17,0

Par Kontr Ut Resultat Poäng

 28

 [  6
 ]  974
 {  AQ742
 }  QT93

 [  K43
 ]  8532
 {  K65
 }  AK7

 [  QT95
 ]  AQT
 {  ---
 }  J86542

 [  AJ872
 ]  KJ6
 {  JT983
 }  ---

3 17 2Nx V -3 { 3 500       18,0 0,0
4 16 5}x Ö -2 { J 300       16,0 2,0
20 10 4}x Ö -1 ] 3 100       14,0 4,0
12 8 3{ N -1 }5 -100 12,0 6,0
1 19 5[x S -1 }9 -200 7,0 11,0
6 14 4[ S -2 }9 -200 7,0 11,0
9 11 3N N -2 }5 -200 7,0 11,0
13 7 3[ S -2 }3 -200 7,0 11,0
5 15 5[ S -3 }9 -300 2,0 16,0
18 2 3}x Ö = ]6 -470 0,0 18,0

Par Kontr Ut Resultat Poäng

 29

 [  J8542
 ]  KQ9643
 {  8
 }  5

 [  KQ63
 ]  AJT85
 {  A5
 }  AQ

 [  9
 ]  7
 {  KQ93

 } KT87432
 [  AT7
 ]  2
 {  JT7642
 }  J96

12 8 2] x V -4 { A 1100       18,0 0,0
5 15 3N N = { K 600       14,0 4,0
9 11 3N N = }5 600       14,0 4,0
18 2 3N S = [2 600       14,0 4,0
20 10 2N N = }7 120       10,0 8,0
1 19 4] N -1 [9 -100 7,0 11,0
13 7 3N N -1 [9 -100 7,0 11,0
3 17 5N N -2 }4 -200 3,0 15,0
6 14 4[ S -2 }5 -200 3,0 15,0
4 16 3N N -3 [Q -300 0,0 18,0

Par Kontr Ut Resultat Poäng

 30

 [  Q84
 ]  Q
 {  AK982
 }  AKT3

 [  K5
 ]  AK65
 {  QT75
 }  QJ2

 [  AJT7
 ]  JT843
 {  J43
 }  9

 [  9632
 ]  972
 {  6
 }  87654

18 2 3] Ö -1 ] 2 50       18,0 0,0
9 11 1N N -2 { J -100 16,0 2,0
12 8 3{ Ö = }8 -110 14,0 4,0
5 15 2] Ö +1 { 6 -140 11,0 7,0
6 14 2[ V +1 ]A -140 11,0 7,0
1 19 2] Ö +2 { 6 -170 7,0 11,0
20 10 2[ V +2 ]A -170 7,0 11,0
4 16 3N V +1 { 5 -430 4,0 14,0
3 17 1Nx N -3 ] J -500 2,0 16,0
13 7 3{ x V +1 ]A -570 0,0 18,0
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Par Kontr Ut Resultat Poäng

 31

 [  KJ3
 ]  J952
 {  K7
 }  QJT3

 [  9876
 ]  AQT3
 {  QT43
 }  9

 [  QT5
 ]  K64
 {  AJ65
 }  A42

 [  A42
 ]  87
 {  982
 }  K8765

14 8 3N Ö -2 }5 100       18,0 0,0
4 18 3N V -1 { 4 50       15,0 3,0
7 15 3N V -1 [9 50       15,0 3,0
20 11 Pass 0       12,0 6,0
2 1 3N Ö = ]8 -400 7,0 11,0
10 12 3N Ö = }6 -400 7,0 11,0
13 9 3N Ö = ]8 -400 7,0 11,0
19 3 3N V = [7 -400 7,0 11,0
5 17 3N V +1 }2 -430 1,0 17,0
6 16 3N Ö +1 }6 -430 1,0 17,0

Par Kontr Ut Resultat Poäng

 32

 [  KQJ975
 ]  Q764
 {  76
 }  9

 [  A3
 ]  AK53
 {  Q832
 }  K83

 [  864
 ]  J98
 {  J95
 }  AT75

 [  T2
 ]  T2
 {  AKT4
 }  QJ642

5 17 5}x S = }2 550       18,0 0,0
14 8 3N N +3 }5 490       16,0 2,0
13 9 3N N +2 }5 460       14,0 4,0
2 1 3N N = ]8 400       9,0 9,0
7 15 3N N = [4 400       9,0 9,0
10 12 3N N = ]8 400       9,0 9,0
19 3 3N N = ] J 400       9,0 9,0
4 18 3N N -1 [6 -50 3,0 15,0
20 11 3N N -1 [2 -50 3,0 15,0
6 16 3N N -2 [4 -100 0,0 18,0

Par Kontr Ut Resultat Poäng

 33

 [  AJ82
 ]  K854
 {  Q2
 }  K87

 [  K
 ]  T732
 {  AT6
 }  AJT53

 [  543
 ]  AQJ
 {  K953
 }  Q42

 [  QT976
 ]  96
 {  J874
 }  96

6 16 2} V -3 [K 150       18,0 0,0
10 12 2{ Ö -2 }9 100       15,0 3,0
13 9 2N V -2 [6 100       15,0 3,0
2 1 1N N = { 5 90       12,0 6,0
4 18 3] V -1 }A 50       6,0 12,0
5 17 3N Ö -1 }2 50       6,0 12,0
7 15 3N V -1 }5 50       6,0 12,0
19 3 4] V -1 [K 50       6,0 12,0
20 11 3N V -1 ] 2 50       6,0 12,0
14 8 2[ S -2 { Q -100 0,0 18,0

Par Kontr Ut Resultat Poäng

 34

 [  AT75
 ]  J32
 {  KT97
 }  95

 [  KQ
 ]  A8765
 {  A654
 }  J3

 [  9643
 ]  K4
 {  J32
 }  KQ84

 [  J82
 ]  QT9
 {  Q8
 }  AT762

15 9 4] N = [3 620       18,0 0,0
20 12 3] N +1 [4 170       16,0 2,0
1 4 3] N = }K 140       9,0 9,0
3 2 3] N = [4 140       9,0 9,0
5 19 2] N +1 [6 140       9,0 9,0
6 18 2] N +1 }K 140       9,0 9,0
7 17 3] N = }K 140       9,0 9,0
8 16 2] N +1 [4 140       9,0 9,0
11 13 2] N = [4 110       2,0 16,0
14 10 3] Ö = [5 -140 0,0 18,0

Par Kontr Ut Resultat Poäng

 35

 [  ---
 ]  Q82
 {  AK9832
 }  J854

 [  KJ42
 ]  T9764
 {  65
 }  Q3

 [  AQT65
 ]  AK
 {  T74
 }  AKT

 [  9873
 ]  J53
 {  QJ
 }  9762

15 9 3N Ö +3 [9 -690 18,0 0,0
6 18 3N Ö +4 [9 -720 16,0 2,0
1 4 6{ V +1 ]T -1390 11,0 7,0
3 2 6{ V +1 ]T -1390 11,0 7,0
7 17 6{ V +1 { 6 -1390 11,0 7,0
14 10 6{ Ö +1 }5 -1390 11,0 7,0
5 19 6N Ö +1 ]3 -1470 3,0 15,0
8 16 6N Ö +1 }9 -1470 3,0 15,0
11 13 6N Ö +1 [9 -1470 3,0 15,0
20 12 6N Ö +1 [9 -1470 3,0 15,0

Par Kontr Ut Resultat Poäng

 36

 [  96
 ]  A863
 {  AK5
 }  AK85

 [  AJ85
 ]  92
 {  QJ9762
 }  7

 [  K7432
 ]  K4
 {  4
 }  QT632

 [  QT
 ]  QJT75
 {  T83
 }  J94

7 17 6} V -1 ] 9 100       17,0 1,0
8 16 6} V -1 { 7 100       17,0 1,0
1 4 5} V = { Q -600 11,0 7,0
5 19 3N V = { 5 -600 11,0 7,0
14 10 5} V = { Q -600 11,0 7,0
20 12 5} V = { Q -600 11,0 7,0
11 13 5} V +1 ] 9 -620 6,0 12,0
3 2 3N V +1 { Q -630 2,0 16,0
6 18 3N V +1 { Q -630 2,0 16,0
15 9 3N V +1 ] 9 -630 2,0 16,0

Par Kontr Ut Resultat Poäng

 37

 [  5
 ]  J976
 {  AK987
 }  J76

 [  K42
 ]  QT83
 {  Q64
 }  AT5

 [  AT973
 ]  A
 {  T532
 }  832

 [  QJ86
 ]  K542
 {  J
 }  KQ94

8 18 2] N +1 { 3 140       17,0 1,0
20 13 3] S = { A 140       17,0 1,0
16 10 4{ x V -1 ] 8 100       14,0 4,0
4 3 Pass 0       12,0 6,0
9 17 3] S -1 { A -100 9,0 9,0
15 11 4] S -1 { A -100 9,0 9,0
2 5 4] S -2 [5 -200 4,0 14,0
6 1 4] N -2 { 4 -200 4,0 14,0
7 19 4] N -2 [A -200 4,0 14,0
12 14 4] S -3 { A -300 0,0 18,0

Par Kontr Ut Resultat Poäng

 38

 [  Q2
 ]  J765
 {  K97
 }  6432

 [  AK
 ]  AQ
 {  AQJ84
 }  J975

 [  T8643
 ]  K93
 {  653
 }  A8

 [  J975
 ]  T842
 {  T2
 }  KQT

2 5 3N S +3 [Q 490       10,0 8,0
4 3 3N S +3 [6 490       10,0 8,0
6 1 3N S +3 }6 490       10,0 8,0
7 19 3N N +3 [3 490       10,0 8,0
9 17 3N N +3 [3 490       10,0 8,0
12 14 3N N +3 [3 490       10,0 8,0
15 11 3N N +3 [3 490       10,0 8,0
16 10 3N N +3 [4 490       10,0 8,0
20 13 3N N +3 [2 490       10,0 8,0
8 18 3N S +2 }3 460       0,0 18,0

Par Kontr Ut Resultat Poäng

 39

 [  6
 ]  43
 {  8753
 }  KT8654

 [  A95
 ]  T752
 {  KT942
 }  3

 [  KT72
 ]  KQJ98
 {  A
 }  AJ2

 [  QJ843
 ]  A6
 {  QJ6
 }  Q97

20 13 3] Ö -3 { Q 300       18,0 0,0
15 11 5} V -1 [A 100       16,0 2,0
6 1 3[ S -1 ] 4 -100 14,0 4,0
4 3 3} V +1 [A -130 11,0 7,0
12 14 4} V = [A -130 11,0 7,0
9 17 3[ S -3 ] 4 -300 8,0 10,0
7 19 3[x S -2 }5 -500 6,0 12,0
2 5 4] Ö +1 [Q -650 4,0 14,0
16 10 4] x Ö = [Q -790 2,0 16,0
8 18 3[x S -4 ] 4 -1100 0,0 18,0

Par Kontr Ut Resultat Poäng

 40

 [  642
 ]  AT76
 {  9832
 }  53

 [  AQT3
 ]  Q5
 {  J4
 }  AK974

 [  K985
 ]  K4
 {  KQT5
 }  JT2

 [  J7
 ]  J9832
 {  A76
 }  Q86

10 18 1N N +3 [8 180       18,0 0,0
9 19 2] N +1 { K 140       16,0 2,0
3 6 1N S +1 { 2 120       14,0 4,0
8 1 3} N = { K 110       11,0 7,0
16 12 2] S = }5 110       11,0 7,0
13 15 3{ V -1 ]Q 50       8,0 10,0
5 4 3] S -1 }5 -50 5,0 13,0
17 11 3N S -1 { 2 -50 5,0 13,0
7 2 4] N -2 }2 -100 1,0 17,0
20 14 2N S -2 { 3 -100 1,0 17,0

Par Kontr Ut Resultat Poäng

 41

 [  T97
 ]  AKQJ83
 {  765
 }  3

 [  AK
 ]  96
 {  AK84
 }  KT984

 [  J842
 ]  752
 {  J3
 }  J762

 [  Q653
 ]  T4
 {  QT92
 }  AQ5

7 2 2] x V -2 [A 500       18,0 0,0
10 18 5{ S +1 ]A 420       15,0 3,0
16 12 4[ N = ]2 420       15,0 3,0
13 15 5{ N = ]2 400       10,0 8,0
17 11 5{ S = ]A 400       10,0 8,0
20 14 5{ S = ]K 400       10,0 8,0
3 6 4{ S +1 ]A 150       5,0 13,0
8 1 4{ N +1 ]7 150       5,0 13,0
5 4 5} N -1 ] 3 -50 1,0 17,0
9 19 5} N -1 ] 2 -50 1,0 17,0

Par Kontr Ut Resultat Poäng

 42

 [  QJ763
 ]  8
 {  Q743
 }  QJ9

 [  K854
 ]  J
 {  J62
 }  AT753

 [  T
 ] AT7432
 {  T85
 }  842

 [  A92
 ]  KQ965
 {  AK9
 }  K6

8 1 3N S +2 [Q 660       16,0 2,0
16 12 3N S +2 }Q 660       16,0 2,0
17 11 3N S +2 { 3 660       16,0 2,0
7 2 3N S +1 { 4 630       11,0 7,0
9 19 3N S +1 { 4 630       11,0 7,0
5 4 3N S = ]8 600       5,0 13,0
10 18 3N S = { 4 600       5,0 13,0
13 15 3N S = [3 600       5,0 13,0
20 14 3N S = { 4 600       5,0 13,0
3 6 3N N -1 [T -100 0,0 18,0
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Par Kontr Ut Resultat Poäng

 43

 [  T63
 ]  KJ7
 {  AK873
 }  64

 [  KQ
 ]  32
 {  96542
 }  J752

 [  854
 ]  AT4
 {  QT
 }  QT983

 [  AJ972
 ]  Q9865
 {  J
 }  AK

10 1 1[ S +3 { A 170       18,0 0,0
4 7 3[ S = { A 140       12,0 6,0
8 3 2[ S +1 { A 140       12,0 6,0
9 2 1[ S +2 { A 140       12,0 6,0
14 16 3[ S = }6 140       12,0 6,0
17 13 3[ S = }6 140       12,0 6,0
11 19 3} Ö -2 ] 8 100       5,0 13,0
20 15 3{ Ö -2 [K 100       5,0 13,0
6 5 4[ S -1 { A -50 2,0 16,0
18 12 3[ S -2 [3 -100 0,0 18,0

Par Kontr Ut Resultat Poäng

 44

 [  J9642
 ]  872
 {  A
 }  J432

 [  Q
 ]  AQT954
 {  T8
 }  K765

 [  T3
 ]  K6
 { QJ95432
 }  T9

 [  AK875
 ]  J3
 {  K76
 }  AQ8

11 19 3N S +3 [2 690       18,0 0,0
6 5 5] N +1 }T 680       16,0 2,0
4 7 3N S +2 }2 660       14,0 4,0
10 1 4] N +1 { Q 650       10,0 8,0
14 16 5] N = }T 650       10,0 8,0
17 13 5] N = { Q 650       10,0 8,0
8 3 4] N = { Q 620       5,0 13,0
20 15 4] N = { Q 620       5,0 13,0
18 12 5{ x Ö -2 ] J 300       2,0 16,0
9 2 4[ S -1 { A -100 0,0 18,0

Par Kontr Ut Resultat Poäng

 45

 [  A52
 ]  QJ9
 {  J976
 }  QT5

 [  Q9763
 ]  AT6
 {  A2
 }  AJ8

 [  K
 ]  K542
 {  KQT43
 }  763

 [  JT84
 ]  873
 {  85
 }  K942

18 12 2[ N +1 { K 140       18,0 0,0
8 3 1[ N +1 ]4 110       16,0 2,0
14 16 1N N = { 4 90       14,0 4,0
6 5 1[ N = { K 80       12,0 6,0
4 7 3[ N -1 { A -100 9,0 9,0
20 15 1N N -1 { K -100 9,0 9,0
9 2 2{ Ö +1 [ J -110 5,0 13,0
17 13 2{ Ö +1 [ J -110 5,0 13,0
11 19 1N N -2 { Q -200 2,0 16,0
10 1 1N N -3 { K -300 0,0 18,0

Plac Par Poäng Hcp % Namn

1 15 478,0 -21,5 59,0 Charlo�a Jönsson - Lars-Eije Svensson
2 19 452,1 -5,7 55,8 Anders Hansson - Erik Hansson
3 11 435,9 51,4 53,8 Rolf Öhman - Inger Öhman
4 20 432,7 -25,0 53,4 Viveca Rappe - Jan-Erik Thomasson
5 7 431,1 -1,2 53,2 Anders Ekström - Lars-Inge Rehnström
6 10 428,7 -42,0 52,9 Mar&n Löfgren - Erik Fryklund
7 5 423,9 16,5 52,3 Lennart Karlsson - Leif Lyngmo
8 13 419,8 5,4 51,8 Lars Lundqvist - Lena Lundqvist
9 4 419,2 27,9 51,8 Gun Karlsson - Royne Gustavsson

10 6 415,1 -15,5 51,3 Tony Lindblom - Jonas Hjelte

11 17 407,6 -7,0 50,3 Göran Eklund - Pe�er Fryklund
12 16 405,9 -17,5 50,1 Stefan Skoog - Staffan Rockler
13 9 399,4 -21,3 49,3 Hans Velin - Krister Ekudd
14 18 391,0 54,5 48,3 Marie Cederkrok - Anita Bergstedt
15 2 390,3 13,4 48,2 Maud Kylinger - Gunnar Boström
16 1 384,5 42,8 47,5 Åke Karlsson - Ragnar Jansson
17 14 374,0 -49,8 46,2 Mats Sjöberg - Emma Övelius
18 8 368,3 32,9 45,5 Torbjörn Forsén - Dag Johansson
19 3 342,4 -13,2 42,3 Pär Andersson - Peter Kennerfalk
20 12 303,9 -25,2 37,5 Ulf Pe�ersson - Tomas Gustafsson


